

Invoicing Address:

Innovative Electrical Solutions  
693 Capstone Court  
Hayden ID  
United States

Shipping Address:

Sheriff's Department, Main Office and Jail  
5500 N. Government Way  
Coeur d'Alene ID 83815  
United States  
☎ 208-446-1418

Sheriff's Department, Main Office and Jail  
5500 N. Government Way  
Coeur d'Alene ID 83815  
United States

## Quotation # S07361

Quotation Date:

01/15/2026

Expiration:

02/14/2026

Salesperson:

Chad Eckberg

### Scope of Work

---

#### Camera Additions Per pod( 2 Pods total)

- Utilize available storage capacity on Server 3
- Add one 360° camera with PTZ coverage in each day room
- Add one 90° camera with wall mount at each outdoor recreation area
- Add one 90° camera with ceiling mount at each the interior door leading to outdoor recreation area

#### Existing Infrastructure

- Server 3 has sufficient capacity to support additional camera storage

#### Exclusions

- Network switch
- Conduit from network closet to camera locations
- Touchscreen system tie-in

---

Description	Quantity	Unit Price	Taxes	Amount
-------------	----------	------------	-------	--------

---

(509) 241-0563 | [accounting@ausecurity.net](mailto:accounting@ausecurity.net) | [sales@ausecurity.net](mailto:sales@ausecurity.net) | [service@ausecurity.net](mailto:service@ausecurity.net) | [ausecurity.net](http://ausecurity.net)

---

XPPPLUSDL XProtect Professional + Device License (DL)	6.00 Units	177.00	Idaho	\$ 1,062.00
			Wholesale	
YXPPPLUSDL 1 Year Care Plus for XProtect Professional+ DL	6.00 Units	33.00	Idaho	\$ 198.00
			Wholesale	
Data Drop Data Drop	6.00 Units	500.00	Idaho	\$ 3,000.00
			Wholesale	
Labor - Camera Installation - Existing System Project Labor	44.00 Hours	145.00	Idaho	\$ 6,380.00
			Wholesale	
Lift Rental Lift Rental	1.00 Units	500.00	Idaho	\$ 500.00
			Wholesale	
Electrical Permit	1.00 Units	307.69	Idaho	\$ 307.69
			Wholesale	
PNM-C19183RVTP Wisenet P Series Multi Directional Outdoor PTZ Camera, 2.4mm Fixed Lens	2.00 Units	3,256.14	Idaho	\$ 6,512.28
			Wholesale	
SBP-250HMW Hanging Cap for PNM-9084QZ & C16083RVQ & C32083RVQ	2.00 Units	57.69	Idaho	\$ 115.38
			Wholesale	
SBP-300CMTW Telescopic Ceiling Mount with female 1.5 pipe thread and 3/4" conduit access holes	2.00 Units	214.62	Idaho	\$ 429.24
			Wholesale	
Ceiling mount base (with conduit holes) compatible with SBP-C15P, SBP-150CMP/300CMP/900CMP	2.00 Units	100.00	Idaho	\$ 200.00
			Wholesale	
QNV-C8012 Wisenet Q mini network outdoor vandal dome camera, 5MP @ 30fps, fix lens 2.4mm (H:123/V: 91), triple codec H.265/H.264/MJPEG with Wisestream III (Based on AI engine), WiseNR?(Based on AI engine), WDR 120dB, WiseMD based on AI engine, Classified object type: Person/Vehicle (vehicle type: car/bus/truck/motorcycle/bicycle); IVA events based on AI engine: Virtual line (Crossing/Direction), Virtual area (Loitering/Intrusion/Enter/Exit/(Dis)Appear), defocus detection, hallway View, SD card, video analytics, USB for easy installation, open platform, IP66, IK10, NEMA4X, PoE, Operating temperature -40 C~+55 C(-40 F ~ +131 F) white color.	4.00 Units	422.31	Idaho	\$ 1,689.24
			Wholesale	

SBP-125WMW1 Wall/Pole mount for: QNV-C8011R/C8012/C9011R, QND-6011/6021/8011/8021, QND-6012R/6022R, QND-6082R, QNE-8011R/8021R, LND-6012R/6022R/6072R, QND-7012R/7022R/7082R (Stainless steel straps are NOT included, compatible with SBP-150S and SBP-060S)	2.00 Units	50.00	Idaho Wholesale	\$ 100.00
Adaptor plate for Single, Double, 4 Octagon	20.00 Units	15.38	Idaho Wholesale	\$ 307.60

<b>Untaxed Amount</b>	\$ 20,801.43
Sales Tax Exempt	\$ 0.00
<b>Total</b>	\$ 20,801.43

Please submit all purchase orders to [orders@ausecurity.net](mailto:orders@ausecurity.net)

## Terms and Conditions

### Contract Terms & Conditions Agreement:

This Agreement shall commence on the "Estimate Date:" stated above, and shall remain in effect until all obligations under this Agreement have been properly completed. All Clients agree to the following terms:

Expenses Reasonable and necessary business and travel expenses incurred by Access Unlimited & Security, Inc. shall be reimbursed by Client upon submission of expense reports with back-up documentation, except that no travel expenses shall apply for assignments within a 10-mile radius of downtown Spokane, Washington. All such expenses in excess of \$50 and associated travel plans must be approved in advance by Client.

Payment Access Unlimited & Security, Inc. shall provide detailed invoices and shall maintain, and provide, upon request, backup documentation for a period of one year from the date of the respective invoices. Client shall make full payment for services within fifteen days of invoice. Payments not made by the 30th day will be considered delinquent and will be subject to a 1% per month charge (12% per year). Returned checks will be charged a fee of \$30.00. If Access Unlimited & Security, Inc. brings a legal action to collect any sums due under this Agreement, Access Unlimited & Security, Inc. shall be entitled to collect, in addition to all damages, its costs of collection, including reasonable attorney's fees. All amounts are stated in US Dollars.

Warranties Access Unlimited & Security, Inc. represents and warrants to the undersigned:

(509) 241-0563 | [accounting@ausecurity.net](mailto:accounting@ausecurity.net) | [sales@ausecurity.net](mailto:sales@ausecurity.net) | [service@ausecurity.net](mailto:service@ausecurity.net) | [ausecurity.net](http://ausecurity.net)

1. It has the experience and ability to perform the services required by this Agreement;
2. That it will perform said services in a professional, competent and timely manner;
3. That its performance of this Agreement shall not infringe upon or violate the rights of any party, or violate any federal, state or municipal laws. Provided however, Access Unlimited & Security, Inc. shall retain exclusive control as to the general procedures and formats necessary in order for Access Unlimited & Security, Inc. to provide the services in this Agreement to the Client's satisfaction.

**Confidentiality** Access Unlimited & Security, Inc. recognizes and acknowledges that this Agreement creates a confidential relationship between Access Unlimited & Security, Inc. and Client and that information concerning Client's business affairs, customers, vendors, finances, properties, methods of operation, computer programs, documentation, and other such information, whether written, oral, or otherwise, is confidential in nature. All such information concerning Client is hereinafter collectively referred to as "Confidential Information."

**Non-Disclosure** Access Unlimited & Security, Inc. agrees that, except as directed by Client, it will not at any time during or after the term of this Agreement disclose any Confidential Information to any person whatsoever and that upon the termination of this Agreement if requested by Client, Access Unlimited & Security, Inc. will turn over to Client all documents, papers, and other matter in its possession or control that relate to Client. Access Unlimited & Security, Inc. further agrees to bind its employees and subcontractors to the terms and conditions of this Agreement. However, Access Unlimited & Security, Inc. will not be held liable for any damages inferred or incurred from disclosure of Confidential Information, accidental or otherwise.

**Grant** Access Unlimited & Security, Inc. agrees that its work product produced in the performance of this Agreement shall remain the exclusive property of Client, and that it will not sell, transfer, publish, disclose or otherwise make the work product available to third parties without Client's prior written consent. Any rights granted to Access Unlimited & Security, Inc. under this Agreement shall not affect Client's exclusive ownership of the work product.

**Governing Law** This Agreement shall be construed and enforced in accordance with the laws of the State of Washington. The Client agrees that venue shall be, at the election of Access Unlimited & Security, Inc., in the Spokane County Superior Court, Washington. The Client hereby consents to the jurisdiction of the Courts of the State of Washington in any matter pertaining to, or arising out of, this Agreement, or any other jurisdiction as dictated by Access Unlimited & Security, Inc.

**Lawful Use of Services** All services provided to Client by Access Unlimited & Security, Inc. Services may be used only for lawful purposes. Any use of these services for illegal or unlawful purposes shall be in violation of this agreement. Service will be terminated and all fees paid by Client will be forfeited in the event of any breach of these Terms and Conditions.

**Entire Agreement and Notice** This Agreement contains the entire understanding of the parties and may not be amended without the specific written consent of both parties. Client may terminate services for whatever reason, but will be responsible for costs within the current service period and must give 30 days notice.

Authorized Signatures:

Total Due at Contract Signing: \$ \_\_\_\_\_

Additional Terms: 100 % of hardware due upon signing of contract with remainder due upon completion of contract terms. Calculation of down will be based on estimation of work to be done. Cancellation by customers shall result in a forfeiture of deposit.

BY: \_\_\_\_\_

TITLE: \_\_\_\_\_

SIGNATURE: \_\_\_\_\_

## Payment Terms

Payment is due within 30 days from the date of the invoice. Check, cash, credit card, and debit card payments are accepted. However, there will be a 3% surcharge fee for all credit card and debit card payments.

Accounts past due are subject to a service charge fee of 1% per month.

Report any discrepancies immediately.

Please reference invoice number during payment.